A
e

O—
~
| —‘
- L
=]

y = wmoE| v A3
U | ; f :

i s ¢ L L L &€ & W 4 D B r Pk | T  Cea

grf h9 +(.3 ()  h8 +0.1 6 | kegf | ket ke

ABS 5 14 [M5x0.8 5 27519 8 8 9 7 11.112(%h) 16 6 0.5| 50°| 210 | 640 240
ABS 6 20 | M 6X1 6 33.523.8 88 11 10 8 127 (%) 18 6.750.5| 50°| 330 | 830 310
ABS 8 40 |M8x1.25 8 41 28.6 11.6 12 12 10 15.875(%) 22 9 0.5/ 50| 590 | 1450 600
ABS 10 68 | MI0X1.25 10 49 34.2 14.2 15 14 11 19.05 (%) 26 10.5 0.5| 50" 940 | 2050 850
ABS10B | 70 [M10Xx1.5 10 55 40.2 142 21 14 11 19.05 () 26 10.5 0.5| 50°| 940 | 2050 850
ABS12 || 106 [ M12x1.25 12 55.1 38.1 15.1 17 19 17 22.225(%) 30 12  0.5| 50°| 1440 | 2790 1140
ABS12B | 110 | M12X1.75 12 62.1 45.1 15.1 24 19 17 22.225(%) 30 12  0.5| 50°| 1440 | 2790 1140
ABS 14 165 | M14x1.5 14 70.7 51.3 16.8 22 19 17 25.4 (1) 34 13.5 0.5| 40°| 2020 | 3650 1470
ABS 14B || 170 | M14x2 14 76.7 57,3 16.8 28 19 17 25.4 (1) 34 13.5 0.5| 40°| 2020 | 3650 1470
ABS16 || 236 [ M16X1.5 16 76.3 54.5 18 23 22 19 28.575(1%) 38 15  0.5| 40°| 2740 | 4600 1850
ABS 16B || 240 | M16x2 16 82.3 60.5 18 29 22 19 28.575(1%) 38 15 0.5| 40" | 2740 | 4600 1850

| |
RLME 4 MZRSE%ee (P5192H) 5, B {13451 B 3
R—nfts v 7 | BREERREE Hve50LL L THOL I IZEEOBRO 77 7y MBI, V> 45
vy 7 S35C BHRoZSAET2 L8 TEET, Tﬁg
(Bta7 o A— L) SIS Y 7RO THBROA A7 v 07 ELTLEE g
2. BREET 2 % ATz,
ZI7NAE 0.02~0.08mm ' oy
7EYTAE 0.25mm PATF o l,_J,

RSB ﬁa
[
shEsEIZAEAE M8, N8 T ‘—“—\f
BEIAE HIO0 ) \Am

A BEAEERTHOAREAOBELZRL £,

527



